Serial #
	……

-1  point for not writing your serial #


King Fahd University of Petroleum & Minerals
Electrical Engineering Department
EE207: Signals & Systems (121)
Quiz 6: Laplace Transform 
Dr. Ali Hussein Muqaibel
Name:		  	
Tables are attached 

Find the Laplace transform of      


(a) 
 for which we can find the Laplace transform 



Find the Laplace transform of        


(c) 


Find the inverse Laplace transform of  

[bookmark: _GoBack][image: ]   Method 3 is the preferred method!
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The first two parts are HW problems! 
Good luck, Dr. Ali Muqaibel
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_____________________________________________________________________
		Good Luck, 	Dr. Ali Muqaibel
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Name Property
1. Linearity, (7.10) Flaif1(t) + arf2(t)] = a1F1(s) + arF(s)
2. Derivative, (7.15) QF%] = sF (s) = f(07)
ra'ro)

3. nth-order derivative, (7.29)

4. Integral, (7.31)

5. Real shifting, (7.22)
6. Complex shifting, (7.20)
7. Initial value, (7.36)

8. Final value, (7.39)

9. Multiplication by ¢, (7.34)

10. Time transformation, (7.42) (a > 0;b = 0)

11. Convolution

12. Time periodicity
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